=1
) =
(log- (x
b) logs

1
( )



Check your understanding
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solve: logs(x +2)+ logs(x—2) =1
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Check your understanding



Check your understanding

logio(x + 3) + loge(x) =1
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Exponential Equations

What if both sides can not be wrltten to powers of a common base?

Example: 3% = 30 3 Q? —9 ’b 3

What would Thls equation be if expressed as a logarithmic sta emen’r'>

10g3 30=x Can this be determined using a calculator?

Here is a new method to solve exponential equations...

e Particularly effective when unable o express
both sides as a power of a common base

Key property of equations...

* As long as you perform the same operation to BOTH
sides of an equation, equality will be maintained

Take the common logarithm of both
3* = 3() sides...or natural logarithm

Why base 10 or base "e" ?



Exponential Equations

3*=30
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Now Your Turn:
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